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7-5
Square Root Property
Completing the Square

Objective: | can solve quadratics using square

root property

| can put a quadratic into vertex form by

completing the square

K
X: e

Can you use the square root property?
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Solve using the square root property

¥ —14=2
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Solve using the square root property
(x—2)" =25

You Try
(g—5)7%-21=4

If we could put a quadratic into that form, that
could give us another way to solve!
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Perfect Square Binomials

[X7D4x H4 = (x@2)? X2 -4X + 4 = (X - 2)2

What does it mean to "complete the square?"

[ x2®6x + E = ( >(43>?_

%nanipulative
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You try! Complete the square.

X2 +’8%_+_\@= (>(+q >2-

_ c{“(

?gnanipulative

You try! Complete the square.

X2+1..Q.2(+ﬁ= ()(,\_S>z‘
[ x ]

>

%nanipulative
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Have you found a pattern?
erene (5 oY C
w3 e
Z

X2 + 10X + 25 <\Q 2
2

Determine the constant that must be added to the
expression to make it a perfect square trinomial. Then factor

the expression.

p +14p+ _i <P+7>

.%nanipulative
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You Try

W +12w 4 2@ = (v +6
-G

W+ 9w

: (&)

Solve by completing the square.

f(x)=b*+2b-8

10
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REMINDER: Graphing Form (Vertex Form)
2

() @ =a-nP+k |
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Find the vertex and graph

f()=(x-2)"-1 g(x)=2(x+4) -2
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Axis of Symmetry: x = +h fx)=ax-n)"+k
or

= -b/2a f(x)=ax’*+bx+c

Write the quadratic equation in vertex form:

4.5% y
f(x)=x"+4x+3 2
9=y +4 )93

'@(K) (XLZ) A\ pertexs (2 1)
K e

Vertex:
Axis of Symmetry:
Transformations:

12
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Write the quadratic equation in vertex forﬂ

f(x)=x>—6x—2 z :_(,3)2
P0)=(x6x +1)- A -2
E(xj: (Y"B)Z—\lT

Vertex: l

Axis of Symmetry:
Transformations:

Write the quadratic equation in vertex form:

f(x)=x"+6x-1

Vertex:
Axis of Symmetry:
Transformations:

13
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Write the quadratic equation in vertex form:

g(x)=x"+5x+2

Vertex:
Axis of Symmetry:
Transformations:

Write the quadratic equation in vertex form:
2 @ 2": \Z
f(x)=2x"+4x+6 2

Q(ﬁ-’—@__%:(zﬂjb()f )— ()
R0l s D )2+
(E&/: ) (><+])Z+LI [m

) 069 LLAR _
Vertex: ﬂ\ V )(4 l
Axis of Symmetry:
Transformations:

14
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Graph by using transformations. Identify the vertex and axis of
symmetry of the parabola. Based on the graph, determine the
domain and range of the quadratic function.

f(xX)=x>+4x+3

You Try
Graph by using transformations. Identify the vertex and axis of
symmetry of the parabola. Based on the graph, determine the
domain and range of the quadratic function.

f(x)=x*+6x-1

15
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You Try

Graph by using transformations. Identify the vertex and axis of

symmetry of the parabola. Based on the graph, determine the
domain and range of the quadratic function.

f(x)=2x"—4x+2

Give an equation in function form f(x)= a(x — k) + k of the
following graph.
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